MODE

‘The mode is the value that appears the most.'
To work out the mode:

Put the numbersin order:
36667911 13
Look for the number that appears the most.
6 appears more than any other number.
So the mode valueis 6.

There can be more than one mode.

1. 9,20,14,9.13 6. 7.16,18,17,6,7.15,18
mode = mode =

2. 11,13,16,14,13,20,13,7,19 7. 919 6.8.8
mode = mode =

3. 8,9.1,7,7,18 8. 15,11,17,12,14,11,9,15,13
mode = mode =

4. 15,17,13,20,17,18,19 9. 9.920,20,14,17,14,1,17,9
mode = mode =

9. 12,19,13,11,11,19, 20 10.14,19,15, 6,15,19,12, 20

mode = mode =



